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= 312,200 312,200 0
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2 312,200 312,200 0
= 893,850 799,988 93,862
[ia 1,245,240 1,240,036 5,204
SESESPONE 30,900 33,000 £2,100
301 PR EI 900 3,000 £2,100
09 BAAIHITI 23 900 3,000 £2,100
O YUSAX REE Y| 300, 0002 +3% 900 3,000 A2,100
R 227,498 4,837 222,661
2 145,841 0 145,841
= 76,820 0 76,820
2 4,837 4,837 0
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= 3,900 0 3,900
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2 3,900 0 3,900
= 3,900 0 3,900
401 Al&1 I 2 = CH | 218,761 0 218,761
2 145,841 0 145,841
< 72,920 0 72,920
01 A&l 218,761 0 218,761
O SAE ST (W) 218,761 0 218,761
2 145,841 0 145,841
= 72,920 0 72,920
AFALEH Off 2 e 40,577 0 40,577
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2 12,835 0 12,835
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=) 461 0 461
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= 183, 156 183, 156 0
=) 91,420 82,420 9,000
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TAZE KX 1,821,131 4,321,131 ~.2,500,000
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2HXE 107,809 104,745 3,064
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